

COMMON FIXED POINT THEOREM USING COMPARISON FUNCTION IN CONE b-METRIC SPACES

M. RANGAMMA, P. RAMA BHADRA MURTHY

Abstract: In this paper, a common fixed point theorem using comparison function is proved in cone b-metric space which is the generalisation of the result of W. Shatanawi *et.al* in [8] proved in b-metric space.

Keywords: Cone b-metric space, common fixed point theorem, comparison function.

Introduction: The concept of b-metric spaces was introduced by Bakhtin in 1989 and the cone metric spaces was introduced by Huang and Zhang[1] in 2007. Abbas and Jungck[2] proved common fixed point theorems in cone metric spaces. For the properties and examples of cone metric spaces, see[3-5]. Hussain and shah[6] introduced the notion of a cone b-metric spaces generalising both b-metric spaces and cone metric spaces for normal cones. Huang and Xu[7] proved the same results without the assumption of normality. W.Shatanawi[8] proved the common fixed point theorem in b-metric spaces using comparison function. For the examples of comparison function, see[9]. In this paper, we extend the result of common fixed point theorem in b-metric spaces to cone b-metric spaces by means of a comparison function.

Preliminaries:

Definition 1.1: Let E be a Banach space and $P \subseteq E$. P is called a cone if it satisfies the following properties:

- (i) P is closed, non-empty and $P \neq \{\theta\}$, where θ is the zero element of E .
- (ii) $a, b \in R; a, b \geq 0; x, y \in P$ implies $ax + by \in P$.
- (iii) $x \in P$ and $-x \in P$ implies $x = \theta$.

Definition 1.2 For a given cone P , define a partial ordering \leq w.r.t. P by

- (i) $x \leq y$ iff $y - x \in P$
- (ii) $x < y$ implies $x \leq y$ and $x \neq y$
- (iii) $x \ll y$ implies $y - x \in \text{Int}P$, where $\text{Int}P$ denotes interior of P .

Throughout this paper, E stands for Banach space and P for solid cone. For the properties and examples of cone metric spaces, see[3-5].

Definition 1.3 Let X be a non-empty set and E be a real Banach space with cone P . A vector valued function $d: X \times X \rightarrow E$ is said to be cone b-metric space on X with a real constant $s \geq 1$ if the following conditions are satisfied for all $x, y, z \in X$:

- (i) $\theta \leq d(x, y)$ i. e., $d(x, y) \in P$
- (ii) $d(x, y) = \theta$ iff $x = y$
- (iii) $d(x, y) = d(y, x)$
- (iv) $d(x, y) \leq s[d(x, z) + d(z, y)]$

The pair (X, d) is said to be cone b-metric space.

Clearly, the class of cone b-metric space is larger than the class of cone metric space.

Example 1.4 Let $E = R^2, P = \{(x, y) \in E : x, y \geq 0\} \subset E, X = R$ and $d: X \times X \rightarrow E$ such that $d(x, y) = (|x - y|^p, \alpha|x - y|^p)$, where $\alpha \geq 0$ and $p > 1$ are two constants. Then (X, d) is a cone b-metric space, but not a cone metric space.

Definition 1.5: Let (X, d) be a cone metric space, $x \in X$ and $\{x_n\}_{n \geq 1}$ be a sequence in X . Then

(i) $x_n \rightarrow x$ whenever for every $c \in E$ with $\theta \ll c$, there is a natural number N such that

$$d(x_n, x) \ll c \forall n \geq N.$$

(ii) $\{x_n\}$ is a Cauchy Sequence if for every $c \in E$ with $\theta \ll c$ there is a natural number N such that

$$d(x_n, x_m) \ll c \forall n, m \geq N.$$

(iii) (X, d) is a complete cone metric space if every Cauchy sequence in X is convergent in X .

The following lemmas are often used in proving our main result.

Lemma 1.6: Let (X, d) be a cone b-metric space over a real Banach space E with a cone P . The following properties hold for all $x, y, z \in E$.

- (1) If $x \leq y$ and $y \ll z$ then $x \ll z$.
- (ii) If $\theta \leq x \ll c$ for all $c \in \text{Int}P$, then $x = \theta$.
- (iii) If $x \leq \lambda x$ where $x \in P$ and $0 \leq \lambda < 1$ then $x = \theta$.
- (2) Let $x_n \rightarrow \theta$ in E and let $\theta \ll c$. Then $\exists n_0 \in N$ such that $x_n \ll c$ for each $n \geq n_0$.

Definition 1.7 : Let (X, d) and (X', d') be two cone b-metric spaces with real constants s and s' respectively. A mapping $f: X \rightarrow X'$ is said to be continuous if for each sequence $\{x_n\}$ in X , which converges to $x \in X$ w.r.t d , then $\{f x_n\}$ converges to $f x$ w.r.t d' .

Definition 1.8: Let $s \geq 1$ be a constant. A mapping $\varphi: P \rightarrow P$ is called a comparison function over P with base $s \geq 1$, if it satisfies the following:

- (i) φ is non-decreasing
- (ii) $\lim_{n \rightarrow \infty} \varphi^n(t) = \theta$ for all $\theta < t$.

Remark 1.9 If φ is a comparison function, then $\varphi(t) < t$ for all $\theta < t$.

Main Result:

Theorem 2.1: Let (X, d) be a complete cone b-metric space and with a real constant $s \geq 1$. f, g be two self-maps on X . Suppose there is a constant $L < \frac{1}{1+s}$ and a comparison function φ over the cone $P \subseteq E$ satisfying the inequality

$$sd(fx, gy) \leq \varphi(\max\{sd(x, fx), sd(y, gy), L[d(x, gy) + d(fx, y)]\}) \text{ for all } x, y \in X \tag{1}$$

If any of the mappings f or g is continuous, the f and g have unique common fixed point.

Proof Let $x_0 \in X$. Define the sequence $\{x_n\}$ as $x_{2n+1} = fx_{2n}$ and $x_{2n+2} = gx_{2n+1}$ for all $n \in N$.

First we shall prove the case if $x_n = x_{n+1}$ for some $n \in N$.

If $n = 2k$, then $x_{2k} = x_{2k+1}$. Using (1),

$$sd(x_{2k+1}, x_{2k+2}) = sd(fx_{2k}, gx_{2k+1})$$

$$\leq \varphi(\max\{sd(x_{2k}, x_{2k+1}), sd(x_{2k+1}, x_{2k+2}), L[d(x_{2k}, x_{2k+2}) + d(x_{2k+1}, x_{2k+1})]\})$$

$$\leq \varphi(\max\{sd(x_{2k+1}, x_{2k+2}), L[sd(x_{2k}, x_{2k+1}) + d(x_{2k+1}, x_{2k+2})]\})$$

$$\leq \varphi(\max\{sd(x_{2k+1}, x_{2k+2}), L[sd(x_{2k+1}, x_{2k+2})]\}) = \varphi(sd(x_{2k+1}, x_{2k+2}))$$

Using Remark 1.9, if $\theta < d(x_{2k+1}, x_{2k+2})$ then $sd(x_{2k+1}, x_{2k+2}) \leq \varphi(sd(x_{2k+1}, x_{2k+2})) < sd(x_{2k+1}, x_{2k+2})$, a contradiction.

Hence $d(x_{2k+1}, x_{2k+2}) = \theta$. i.e., $x_{2k+1} = x_{2k+2}$.

Therefore,

$x_{2k} = x_{2k+1} = x_{2k+2}$ i.e., $x_{2k} = fx_{2k} = gx_{2k}$ implies x_{2k} is the common fixed point of f and g .

Similarly if $n = 2k + 1$, it can be seen that x_{2k+1} is the common fixed point of f and g .

Now we prove the case when $x_n \neq x_{n+1}$ for all $n \in N$ in several steps.

Step I: To prove $sd(x_n, x_{n+1}) \leq \varphi(sd(x_{n-1}, x_n))$ for all $n \in N$. (2)

We prove this for $n = 2k$ and then for $n = 2k + 1$ where $k \in N$.

If $n = 2k$, then

$$sd(x_{2k+1}, x_{2k}) = sd(fx_{2k}, gx_{2k-1})$$

$$\leq \varphi(\max\{sd(x_{2k}, x_{2k+1}), sd(x_{2k-1}, x_{2k}), L[d(x_{2k}, x_{2k}) + d(x_{2k+1}, x_{2k-1})]\})$$

$$\leq \varphi(\max\{sd(x_{2k+1}, x_{2k+1}), sd(x_{2k-1}, x_{2k}), \frac{1}{2}[sd(x_{2k-1}, x_{2k}) + sd(x_{2k}, x_{2k+1})]\})$$

Using Remark 1.9, if $sd(x_{2k+1}, x_{2k}) \leq \varphi(sd(x_{2k}, x_{2k+1})) < sd(x_{2k}, x_{2k+1})$, a contradiction.

Thus, $sd(x_n, x_{n+1}) \leq \varphi(sd(x_{n-1}, x_n))$ for all $n = 2k, k \in N$. (3)

If $n = 2k + 1$, with a similar approach as above, we get

$$sd(x_n, x_{n+1}) \leq \varphi(sd(x_{n-1}, x_n)) \text{ for all } n = 2k + 1, k \in N. \quad (4)$$

(3) and (4) implies $sd(x_n, x_{n+1}) \leq \varphi(sd(x_{n-1}, x_n))$ for all $n \in N$.

By Induction, it can be seen that $sd(x_n, x_{n+1}) \leq \varphi^n(sd(x_0, x_1))$ for all $n \in N$.

Taking $\lim_{n \rightarrow \infty} n \rightarrow \infty$ and using 1.8(ii), we get $\lim_{n \rightarrow \infty} d(x_n, x_{n+1}) = \theta$. (5)

Applying Remark 1.9 to (2), we have $d(x_n, x_{n+1}) < d(x_{n-1}, x_n)$ for all $n \in N$. (6)

Step 2: To prove that $\{x_n\}$ is a Cauchy sequence.

Let $\theta \ll c$ be given. Then there is a natural number $n_1 \in N$ such that

$$d(x_n, x_{n-1}) \ll \frac{1-L(1+s)}{2s}c, \text{ for all } n \geq n_1 \in N. \quad (7)$$

Let $m, n \in N$ with $m > n \geq n_1$.

We prove $d(x_n, x_m) \ll c$ for all $m > n \geq n_1$ by induction on m . (8)

Let $n \geq n_1$ and $m = n + 1$. Using (2) and (7),

$$d(x_n, x_m) = d(x_n, x_{n+1}) \leq d(x_{n-1}, x_n) \ll \frac{1-L(1+s)}{2s}c \ll c$$

proving for $m = n + 1 \in N$.

Let (8) is true for $m \geq n + 1$. We have to prove for $m + 1$.

There are four possible cases.

Case (i): When n is odd, $m + 1$ is even.

$$sd(x_n, x_{m+1}) = sd(fx_{n-1}, gx_m)$$

$$\leq \varphi(\max\{sd(x_{n-1}, x_n), sd(x_m, x_{m+1}), L[d(x_{n-1}, x_{m+1}) + d(x_n, x_m)]\})$$

$$\leq \varphi(\max\{sd(x_{n-1}, x_n), L[d(x_{n-1}, x_{m+1}) + d(x_n, x_m)]\}) \text{ using (2)}$$

$$< \max\{sd(x_{n-1}, x_n), L[d(x_{n-1}, x_{m+1}) + d(x_n, x_m)]\} \text{ using Remark 1.9}$$

If $sd(x_n, x_{m+1}) < sd(x_{n-1}, x_n)$, then using (5), $d(x_n, x_{m+1}) \ll c$.

If $sd(x_n, x_{m+1}) < L[d(x_{n-1}, x_{m+1}) + d(x_n, x_m)]$, then $sd(x_n, x_{m+1}) < L[d(x_{n-1}, x_{m+1}) + d(x_n, x_m)]$

$$\leq L[sd(x_{n-1}, x_n) + sd(x_n, x_{m+1}) + d(x_n, x_m)]$$

$$\text{i.e., } d(x_n, x_{m+1}) < \frac{L}{1-L} \left[d(x_{n-1}, x_n) + \frac{1}{s}d(x_n, x_m) \right]$$

$$< 2L \left[d(x_{n-1}, x_n) + \frac{1}{s}d(x_n, x_m) \right]$$

Using (7) and since (8) is true for m by induction hypothesis, we have

$$d(x_n, x_{m+1}) \ll 2L \frac{1-L(1+s)}{2s}c + \frac{2L}{s}c \leq \frac{1-2L-L(s-1)}{s}c + \frac{2L}{s}c \leq \frac{1-2L}{s}c + \frac{2L}{s}c = \frac{1}{s}c \ll c.$$

Thus (8) is true for $m + 1 \in N$. Therefore by Induction, (8) is true for all $m > n$ in this case.

Case (ii): When n is even, $m + 1$ is odd. The proof of this is similar to the proof in case(i).

Case(iii): When n is even, $m + 1$ is even. From triangle inequality,

$$d(x_n, x_{m+1}) \leq sd(x_n, x_{n+1}) + sd(x_{n+1}, x_{m+1}) = sd(x_n, x_{n+1}) + sd(fx_n, gx_m)$$

$$\leq sd(x_n, x_{n+1}) + \varphi(\max\{sd(x_n, x_{n+1}), sd(x_m, x_{m+1}), L[d(x_n, x_{m+1}) + d(x_{n+1}, x_m)]\})$$

$$=$$

$$sd(x_n, x_{n+1}) + \varphi(\max\{sd(x_n, x_{n+1}), L[d(x_n, x_{m+1}) + d(x_{n+1}, x_m)]\}), \text{ using (6)}$$

$$<$$

$$sd(x_n, x_{n+1}) + \max\{sd(x_n, x_{n+1}), L[d(x_n, x_{m+1}) + d(x_{n+1}, x_m)]\}, \text{ using Remark 1.9}$$

If $d(x_n, x_{m+1}) \leq sd(x_n, x_{n+1}) + sd(x_n, x_{n+1}) = 2sd(x_n, x_{n+1})$ then using (6) and (7),

$$d(x_n, x_{m+1}) < 2sd(x_{n-1}, x_n) << 2s \frac{1-L(1+s)}{2s} c < c.$$

If $d(x_n, x_{m+1}) \leq sd(x_n, x_{n+1}) + L[d(x_n, x_{m+1}) + d(x_{n+1}, x_m)]$ then,

$$d(x_n, x_{m+1}) \leq sd(x_n, x_{n+1}) + L[d(x_n, x_{m+1}) + sd(x_{n+1}, x_n) + sd(x_n, x_m)]$$

i. e., $(1-L)d(x_n, x_{m+1}) < (1+L)sd(x_n, x_{n+1}) + Lsd(x_n, x_m)$

Using (6), (7) and the induction hypothesis, we have $(1-L)d(x_n, x_{m+1}) << (1+L)s \frac{1-L(1+s)}{2s} c + Lsc < [1-L(1+s)]c + Lsc = (1-L)c$.

Thus $d(x_n, x_{m+1}) << c$ proving (8) for all $m > n$ in this case.

Case (iv): When *nisodd, m + 1 isodd*. The proof of this is similar to the proof in case(iii).

Therefore, $\{x_n\}$ is a Cauchy sequence. Since (X, d) is complete, $\{x_n\}$ converges to some $p \in X$.

Step 3: To prove that $p \in X$ is the common fixed point of f and g .

Since $x_n \rightarrow p$, we have $x_{2n} \rightarrow p$ and $x_{2n+1} \rightarrow p$.

Suppose f is continuous. Then $x_{2n} \rightarrow p$ implies $x_{2n+1} = fx_{2n} \rightarrow fp$.

By uniqueness of the limit, we have $fp = p$. (9)

Now,

$$sd(p, gp) = sd(fp, gp) \leq \varphi(\max\{sd(p, fp), sd(p, gp), L[d(p, gp) + d(fp, p)]\}) = \varphi(sd(p, gp))$$

If $\theta < sd(p, gp)$, then by Remark 1.9, a contradiction. Thus $d(p, gp) = \theta$ or $gp = p$. (10)

From (9) and (10), $fp = gp = p$ i. e., p is the common fixed point of f and g .

Step 4: To prove that p is the unique common fixed point of f and g .

Let p and q be two distinct common fixed points of f and g . Then,

$$sd(p, q) = sd(fp, gq) \leq \varphi(\max\{sd(p, fp), sd(q, gq), L[d(p, gq) + d(fp, q)]\}) = \varphi(2Ld(p, q))$$

Since $2L < 1 \leq s$, $sd(p, q) \leq \varphi(sd(p, q))$

If $\theta < d(p, q)$, then by Remark 1.9, we get a contradiction.

Thus $d(p, q) = \theta$ which implies $p = q$, proving the uniqueness.

Corollary 2.2 Let (X, d) be a complete cone b-metric space and with a real constant $s \geq 1$. f be a self-map on X . Suppose there is a constant $L < \frac{1}{1+s}$ and a comparison function φ over the cone $P \subseteq E$ satisfying the inequality

$$sd(fx, fy) \leq \varphi(\max\{sd(x, fx), sd(y, fy), L[d(x, fy) + d(gx, y)]\}) \text{ for all } x, y \in X$$

If f is continuous, then f has a unique fixed point.

Example 2.3 Let $E = R, P = [0, \infty)$ and $X = [0, 1]$. Define the metric as $d(x, y) = |x - y|^2$. Then (X, d) is a complete cone b-metric space with $s \geq 2$. Let us take $s = 3$. Consider the functions $\varphi: P \rightarrow P, f$ and g as $\varphi(t) = \frac{t}{1+t}; f(x) = \frac{1}{3}x; g(x) = \frac{1}{12}x$ for all $x \in X, t \in P$. Then, here both f, g are continuous w.r.t d . The possible cases are $y = 4x, y > 4x, y < 4x$.

If $y = 4x$, then LHS of (1) is θ which implies the contractive condition (1) is satisfied.

$$\text{If } y > 4x, \text{ then } sd(fx, gy) = 3 \left| \frac{y-4x}{12} \right|^2 \leq \frac{y^2}{48} \leq \frac{121y^2}{148+121y^2} = \varphi\left(\frac{121y^2}{48}\right) = \varphi(3d(y, gy))$$

i. e., LHS of (1) \leq RHS of (1) which implies the contractive condition (1) is satisfied.

$$\text{If } y < 4x, \text{ then } sd(fx, gy) = 3 \left| \frac{4x-y}{12} \right|^{2s} \leq \frac{x^2}{3} \leq \frac{4x^2}{4x^2+3} = \varphi\left(\frac{4x^2}{3}\right) = \varphi(3d(x, fx)).$$

Therefore, (1) is satisfied in all the three cases. By Theorem 2.1, f and g have unique common fixed point which is 0 .

Acknowledgement: Thanks to the assistance provided by Council of Scientific and Industrial Research(CSIR) in all respects.

References:

1. L.G.Huang, X.Zhang, "Cone metric spaces and fixed point theorems of contractive mappings", J.Math.Anal.Appl.332(2) (2007)1468-1476.
2. A.Praveen Prakash, M.P.Kannan, J.Esther Jerlin, A Study on the Causes for Child Trafficking Using; Mathematical Sciences international Research Journal ISSN 2278 - 8697 Vol 3 Issue 2 (2014), Pg 774-776
3. M.Abbas and G.Jungck, "Common fixed point results for non-commutating mappings without

- continuity in cone metric spaces", J.Math.Anal.Appl.341(2008)416-420.
4. M.Abbas and B.E.Rhoades, "Fixed and Periodic point results in Cone metric spaces", Appl.Math.Lett.22(2009),511-515.
5. A.Praveen Prakash, V.S.Shrimathi, J.Esther Jerlin, A Study on the Issues/Problems Pertaining to Single Parents; Mathematical Sciences international Research Journal ISSN 2278 - 8697 Vol 3 Issue 2 (2014), Pg 788-791

6. S.Rezapour and Halmbarani, "Some notes on the paper "cone metric spaces and fixed point theorems of contractive mappings",*J.Math.Anal.Appl.*345(2008)719-729.
7. M.A.Khamsi and N.Hussain, "KKM mappings in metric type spaces",*Non-Linear Analysis, Theory, Methods and Applications*,73(9)(2010),3123-3129.
8. Hussain.N, Shah.MH, "KKM mappings in cone *b*-metric spaces". *Comput. Math. Appl.* 61(4), 1677-1684 (2011).
9. Huang and Xu, "Fixed point theorems of contractive mappings in cone *b*-metric spaces and applications".*Fixed point theory and applications* 2013:112.
10. Deeni C.J, D.Antony Xavier, Hexagonal Mesh Pyramid: Some topological; *Mathematical Sciences International Research Journal ISSN 2278 - 8697 Vol 3 Issue 1 (2014), Pg 266-271*
11. W.Shatanawi, A.Pitea, R.Lazovic, "contraction conditions using comparison functions on *b*-metric spaces".*Fixed point theory and applications* 2014:135.
12. A.David Christopher, M. Davamani Christofer, on Number of Restricted Partitions With A Congruence; *Mathematical Sciences international Research Journal ISSN 2278 - 8697 Vol 3 Issue 2 (2014), Pg 780-783*
13. Nawab Hussain, et.al , "Comparison Functions and Fixed Point Results in Partial Metric spaces" *Abstract and Applied Analysis*,2012,ID605781.

M.Rangamma/ P.Rama Bhadra Murthy/
Department of Mathematics/Osmania University/ Telangana/ India.